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Class : VIII ] (Max. Marks : 20) [ Time : 45 Min.

Name of the Student : Roll No. : ..cccveeune.

L. Solve the following problems. 4x1=4
Bod JHdgen FHowN. www.sureshmathsmaterial.com

II.

II1.

1. A circle - graph is called
$5)8 B QG S50 O L.
2. The value of /169 is

169 RV, D0
3. Probability of an event is

28 doHodd cBoaéb 602,?55@5
4. Cube root of 8000 is
8000 cﬁaoézr DdSoroo
Solve the following problems. 2x2=4
Bod JMgen FHowWIN.
5. The ratio of two adjacent angles of a parallelogram is 5 : 4. Find each of
the angle of that parallelogram?
28 DBTodE WStinmod® Tok edHFwre NG 5 : 4, ©00s
DI7r08Y WG 0 Boog) X8 §°90 &l EF8080?

6. Is 1188 a perfect cube? If not, by which smallest natural number should
1188 be divided, so that the quotient is a perfect cube?
1188 HBYrE DSSr? T @ EIR dFre Dopgd 118850 oSS
iDo0 HBYY HSLor0K0?

www.sureshmathsmaterial.com
Solve the following problem. 1x4=4

Bod S0 FHowIN.

7. Find the smallest square number which is divisible by each of the
numbers 6, 9 and 15?
6, 9, 1503 rAobe B8AK) $¢ Hopgdd ESFoB0?

[ Turn Over



IV. Solve the following problem. 1x8=8
[{STARSI ISR JATSTA I
8. @) The number of students in a hostel, speaking different languages flu-
ently is given below.

a8 $58 Kyros™ DEgyen T odggorr :érégé DA RS
BO0HBE0 DHTe (80¢5 ASGTTON.

Languages Telugu | Hindi | English Total
TR Beoid 08 | 208 S0ogo
No.of Students
Dergfe Howg 40 21 11 72

Display this data in a circle graph?
839 5,)35;,39.7“ AB0S® STHos. www.sureshmathsmaterial.com
(Or)

b) Explain how a square is
BSEBRS0 od T°¢88 Jer JDVFSHH0E DH5BoWod ?

1) aquadrilateral ii) a parallelogram
iﬁéoéo?)aéso DSrosE zﬁéoc‘ﬁazbao
iii) a rhombus iv) arectangle

IS zﬁeﬁoc‘ﬁo?bﬁéao ég6&6®o
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. Acircle - graph is called Pie- chart
The value of V169 is 13

1
2
3. Probability of an event is =
4
5

Number of favourable outcomes to the event

Total number of outcomes of the experiment

. Cube root of 8000 is 20
The ratio of two adjacent angles of a parallelogram is 5 : 4. Find each of the angle of that
parallelogram?

Sol: The ratio of the measures of two adjacent angles of a parallelogram=5:4
Let the angles be 5x and 4x

5x + 4x = 180°(Adjacent angles in a parallelogram are supplementary)

— 0
9x = 180 - _.C
180° T
x= 5 = 20 Pl e
A== —=ip
Opposite angles are equal
ZA=/C=5x=5x%x20°=100°
/B = /D =4x =4x20°=80°
6. Is 1188 a perfect cube? If not, by which’'Smallest natural number should 1188 be divided,
so that the quotient is a perfect-cube?
211188
Sol: 1188 =2 x 2 X (3 X 3 x 3) X411 2594
31297
After grouping 2 and 11'do not appear in groups of three. 1188 is not a perfect cube. 3 EEH
After grouping remdining 2 X 2 X 11 = 44 C ﬁ

The smallest number by which 1188 should be divided to make perfect cube is 44

1188+44 = (3 x 3 x 3)

27 =33
7. Find the smallest square number which is divisible by each of the numbers 6, 9 and 15?
Sol: LCM(4,9,10)=2Xx3x3x5=90 316,9,15
The prime factor2, 5 have no pairs 2,3,5

So, we multiply 90 by 2X5 to get a perfect square

Required square number=90x 10 = 900.
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8. a) The number of students in a hostel, speaking different languages fluently is given below.

Languages Telugu Hindi English Total
Number of 40 21 11 72
Students

Display this data in a circle graph?

Languages | Number of Fraction | Central angle
Students
Telugu 40 40 40 0 0 0
B — — X = X =
g % g % 360" =40 x5 200
ﬁ Z%X%O =21x5" =105
English 1 11 —x360° = 11 x 5° = 55°

72 72

Total 72

English

b) Explain how a square is
i) a quadrilateral ii)\a parallelogram iii) arhombus iv) arectangle

Sol: (i) A square has four sides. So, square is a quadrilateral.
(ii) Square is a parallelogram because it’s opposite sides are parallel.
(iii) A square is rhombuses because it’s four sides are equal in length.

(iv) A square is a rectangle because it’s each angle is right angle.
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